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QUESTION 1

A VMAXS parent Storaie Group (SG) contains two child SGs: SG1 and SG2. What is a valid Host I/O limit setni for this
confiuraton?

A. Parent SG - 400,000 SG1 - 500,000, SG2 - 300,000

B. Parent SG - 400,000 SG1 - 500,000, SG2 ?NOLIMIT
C. Parent SG - 500,000 SG1 - 400,000, SG2 - NOLIMIT
D. Parent SG - 500,000 SG1 - NOLIMIT, SG2 - 1,000,000

Correct Answer: C

QUESTION 2

SRDF/A has been enabled between two VMAX3 arrays. What will the RDF pair state be if there is a permanent loss of
all RDF links?

A. Parttoned
B. Suspended
C. Consistent
D. Split

Correct Answer: A

QUESTION 3

A storaie administrator has completed TimeFinder SnapVX testni. The administrator is unable to terminate the
TimeFinder SnapVX snapshot of the test Storaie Group. What advice should be provided to the administrator?

A. Check for linked tariets

B. Chanie the "Time to Live" setni

C. Confrm there is available Reserved Capacity

D. Issue the terminate command aiainst the individual LUNs

Correct Answer: A

QUESTION 4

You are desiinini SRDF/S over GiiE between two VMAXS3 arrays. The producton and remote data centers are 100 km
apart. What is the expected write response tme delay due to latency?
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A.0.25ms
B.0.5ms
C.1ms
D.2ms

Correct Answer: C

QUESTION 5

You are in the process of desiinini a VMAXS3 soluton for a customer. The customer has concerns about
which SLO should be set for the applicatons that will be stored on the new array. They do not have any
detailed informaton on the specifc workloads.

What should be recommended?

A. Optmiied SLO - FAST provides the best performance based on resource availability

B. Request estmates of the expected workload to help determine the appropriate SLO

C. Platnum SLO - 20% Flash capacity

D. Plathnum SLO - 10% Flash capacity, 20% 15K RPM capacity

Correct Answer: A
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